C:# Multiplying & Dividing Negative Numbers Name:

Solve each problem. Answers
1) (-9 x9=
1.
2) 8)+(8)=
2
3) (x1=
3
4) (A)x(-7)=
4,
5 -42+(-7) =
5.
6) -45+ (-5) =
6.
N HB)+1=_
7.
8) -9+ (-1)=
8.
9) -35+(-7) =
0.
10) 2% (-7) =
10.
11) (-5 % (-6) =
11.
12) (-24)+3=
12.
13) (Hx(nN=__
13.
14) -6+ (-3 =
14.
15) (-9)x8=
15.
16) 9x (-5) =
16.
17) (56) ~ (-8) =
17.
18) (42) =~ (-7) =
18.
19) -54+ (-9) =
19.
20) 2x(-5) =
20.

M th 1 1-10 {95|90(85(80| 75| 70| 65|60 |55|50
a www.CommonCoreSheets.com 11-20(45(40|35|30(25(20| 15|10 5| O




ﬂh Multiplying & Dividing Negative Numbers Name: Answer Key

Solve each problom, Answers
1) ((9dx9=_-18 1 -18
2 @+ (8=_-1 X 1
3 (Yxl=_ -3 2 -3
4) (A x(7n=_28 4 28
5) -42+(-7)=_ 6 5 6
6) -45+(-5)=_9 6 9
N (B)+1=_-5 7 -3
8 9+(1)=_9 8 9
9 -35+(7N=_5__ ; 5
10) 2x(-7)=_-14 o -14
11) (-5)x(-6)=__ 30 11, 30
12) (-24)+3=_-8 12, -8
13) ()x(7N=_7 13 /
14) -6+(-9=_2 14 2
15) (-9 x8=_-72 15, -72
16) 9x(-5)=_-45 16. -45
17) (56)+ (-8 =__ -7 17, -7
18) (42)+(7)=_ 6 18 -6
19) -54+(-9)=_6 _ 10, 6
20) 2x(-5)=_-10 20. -10

M th 1 1-10 [95]90|85(80| 75| 70| 65| 60|55 |50
a Www_Cc)mmor]COfeSheets_C()m 11-20(45(40|35|30(25(20| 15|10 5| O




C:# Multiplying & Dividing Negative Numbers

Name:
Solve each problem. Answers
5 28 9 -3
9 -8 30 -1 1.
-18 -5 6 7
-72 2 -14 2
1) (-2)x9= 3
2 ®+(8= 4
3) (Yx1= >
6.
4) (A)x(-7)=
7.
5) -42+(-7) =
8.
_4 = (- =
6) -45+(-5)=__ .
7 (-5+1= 10.
8) -9+ (-1)= 1
12.
9) -35+(-7)=
13.
10) 2% (-7) =
14,
11) (:9)*x(6)=_
15.
12) (-24)+3=
13) (D x(-7)=
14) -6+ (-3)=
15) (-9) x 8=
M odified 1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Math ] www.CommonCoreSheets.com 1 11-15|127120]13| 7| O




C:# Multiplying & Dividing Negative Numbers Name:

Solve each problem. Answers
1) 4x(-1)=
1
2) (-28)+7=
2.
3 (7)x3=
3.
4) -24+(-3) =
4,
5) (-5)+5=
5.
6) -15+ (-5) =
6.
7)) 5+(9H=__
7.
8) (-1)x9=
8.
9 8+ (4=
9.
10) (3 +(-3) =
10.
11) -4+ (-4) =
11.
12) -48+ (-8) =
12.
13) -18+ (-3) =
13.
14) (-1)x5=
14,
15) (-3)+3=
15.
16) (6) +~ (-1 =
16.
17) 7% (-2) =
17.
18) (-6) x (-4) =
18.
19) 6x(-9) =
19.
20 (€)x(9)=__
20.

M th 2 1-10 {95|90(85(80| 75| 70| 65|60 |55|50
a www.CommonCoreSheets.com 11-20(45(40|35|30(25(20| 15|10 5| O




Ch Multiplying & Dividing Negative Numbers Name: Answer Key

Solve each problem. Answers
1) 4x(-)=_ -4 1 -4
2) (-28)+7=_ -4 , 4
3 (Nx3=_-21 3 -21
4) -24+(-3)=_8 4 8
5 (5)+5=_-1 5 -1
6) -15+(-5)=_3 6 3
7) 5+(5=_1 7 1
8 (Dx9=_-9 8 -9
9 @+ (H=_-2 9 -2

10 +(3)=_-1 10, -1

1) -4+(-4=_1 11. 1

12) -48+(-8)=_ 6 12 6

13) -18+(-3)=_ 6 13, 6

14) ()x5=_ -5 12, -0

15) (-3)+3=_ -1 15, -1

16) (6)+(-)=_-6 16 -6

17) 7x(9=_-14 7 -14

18) (-6)x (4)=_ 24 18 24

19) 6x(9=_-54 0. -S4

20) (-6)x(5)=_30 20, 30

M th 2 1-10 {95|90(85(80| 75| 70| 65|60 |55|50
a www.CommonCoreSheets.com 11-20(45(40|35|30(25(20| 15|10 5| O




C:# Multiplying & Dividing Negative Numbers

Name:
Solve each problem. Answers
-21 6 6 -9
-5 3 8 -1 1
1 4 1 -4
-1 1 -2 2.
1) 4x(D)=__ 3.
2) (28)+7=_ 4.
3) (7)x3=_ >
6.
4) -24+(-3)=
7.
5 (9+5=__
8.
-15+(-5) =
6) -15+(5)=__ .
7) -5+(-5) = 10.
8 ()x9= 11.
12.
9 @(4H=__
13.
10) 3+ (-3) =
14.
11) -4+ (-4) =
15.
12) -48+ (-8) =
13) -18+(-3) =
14) (-1)x5=
15) (-3)+3=
M odified 1-10 | 93| 87| 80| 73] 67| 60|53 47 [40 | 33|
[ Math ] www.CommonCoreSheets.com 2 11-15(27|20]13| 7 | O




C:# Multiplying & Dividing Negative Numbers Name:

Solve each problem. Answers
1) (54)+(-6)=
1
2) -30+(-5) =
2.
3 (-2)x5=
3.
4) (-7)x(-9) =
4,
5 (-2)x5=
5.
6) (-28)+7=
6.
7) (5)x3=
7.
8) (-9)x (-5 =
8.
9) -16+(-2) =
9.
10) -20+ (-5) =
10.
11) 2x (-4) =
11.
12) (10)+(-2) =
12.
13) -32+ (-4) =
13.
14) 7% (-3) =
14,
15) (-42)+6=
15.
16) 6x (-2) =
16.
17) -20+ (-4) =
17.
18) (-8)+4=
18.
19) -42+ (-7) =
19.
20) (15)+(-3) =
20.

M th 3 1-10 {95|90(85(80| 75| 70| 65|60 |55|50
a www.CommonCoreSheets.com 11-20(45(40|35|30(25(20| 15|10 5| O




ﬂh Multiplying & Dividing Negative Numbers Name: Answer Key

Solve each problem. Answers
1) (64)+(6)=_-0 . 9
2) -30+(5)=_6 2 6
3 ((Px5=_-10 3. -10
4) (Nx(-9=_63 4 63
5 (-9x5=_-10 5, -10
6) (-28)+7=_ -4 . A
7) (9x3=_-15 N 15
8) (9 x(5=_45 o 45
9 -16+(2=_8 0 8

10) -20+(5)=_4 0 4

11) 2x(-4)=_ -8 11, -8

12) (10)+(-9=_ -5 12, -5

13) -R2+(4H=_8 13, 8

14) 7x(-3)=_-21 1 -21

15) (-42)+6=_ -7 15, -7

16) 6x(-2)=_-12 16, -12

17) -20+(-4)=_5 _ 17. S

18) (8)+4=_ 2 18 -2

19) -42+(-7)=_6 10, 6

20) (15)+(3=_-5 20, -5

M th 3 1-10 [95]90|85(80| 75| 70| 65| 60|55 |50
a Www_Cc)mmor]COfeSheets_C()m 11-20(45(40|35|30(25(20| 15|10 5| O




C:# Multiplying & Dividing Negative Numbers

Name:
Solve each problem. Answers
-15 45 -21 -4
63 -5 8 6 1.
-9 4 8 -8
-7 -10 -10 2,
1) GH=(6)=__ 3
2) -30+(-5)= 4,
3) (-2)x5= >
6.
4) (-7)x(-9)=
7.
5 (-2)x5=
8.
-28) + 7=
6) (289+7=__ .
7) (-5)x3= 10.
8) (-9)x(-5)= .
12.
9) -16+(-2) =
13.
10) -20+ (-5) =
14.
11) 2x(-4)=__
15.
12) (10)+ (-2) =
13) -32+(-4) =
14) 7% (-3)=
15) (-42)+ 6=
M odified 1-10 | 93| 87| 80| 73] 67| 60|53 47 [40 | 33|
[ Math ] www.CommonCoreSheets.com 3 11-15[27]20|13| 7 | O




C:# Multiplying & Dividing Negative Numbers Name:

Solve each problem. Answers
1) (-6)+3=
1.
2) 20+ (-5) =
2
3) (42)+(-6)=
3
4) (9+(9=
4,
5 (-5)x6=
5.
6) (4)x(-)=
6.
) (hxs5=_
7.
8) (-9)x (-9 =
8.
9) -24+(-8)=
0.
10) (-12)+3=
10.
11) (-6)+2=
11.
12) 3% (-7)=
12.
13) -7+ (-1) =
13.
14) -12+(-3) =
14.
15) -35+(-H) =
15.
16) (-9) x(-1) =
16.
17) (-1)x5=
17.
18) (40) = (-8) =
18.
19) 8x (-4) =
19.
20) 7% (-4) =
20.

M th 4 1-10 {95|90(85(80| 75| 70| 65|60 |55|50
a www.CommonCoreSheets.com 11-20(45(40|35|30(25(20| 15|10 5| O




Ch Multiplying & Dividing Negative Numbers Name: Answer Key

Solve each problem. Answers
1) (6)+3=_-2 L -2
2 20+ (H)=_4 ) 4
3) (42)+(6)=__7 . -7
4H) 9+¢9=_-1 4 -1
5) (-5)x6=_-30 : -30
6) (Ax(-=_8 6 8
7) ()x5=__ 5 . 5
8 (5)x(-9=_45 8 45
9 -24+(-8=_3 o 3

10) (-12)+3=_ -4 10, -4

11) (-6)=2=_ -3 11, -3

12) 3x(-7)=_-21 12, -21

13) -7+(1)=_7 13 /

14) -12+(3=_4 14, 4

15) -35+(5)=_ 7 _ 15, 7

16) (9x(H=_9 16, 9

17) ()x5=_-5 17, -9

18) (40)+(-8)=_ -5 18, -5

19) 8x(-4)=_-32 19 -32

20) 7x(-4)=_-28 20. -28

M th 4 1-10 {95|90(85(80| 75| 70| 65|60 |55|50
a www.CommonCoreSheets.com 11-20(45(40|35|30(25(20| 15|10 5| O




C:# Multiplying & Dividing Negative Numbers

Name:
Solve each problem. Answers
-5 -1 4 8
7 -30 4 45 1
-7 3 -3 -4
-2 -21 7 2.
1) (-6)+3=__ 3
2) -20+(-5)= 4,
3) (42)+(6)= >
6.
4H 9-9=__
7.
5) (-5 x6=
8.
6) (Hx(2=__ .
7) ((1)x5= 10.
8) (-5)x(-9)= H
12.
9) -24+(-8) =
13.
10) (-12)+3=
14,
11) (-6)+2=
E— 15.
12) 3% (-7)=
13) -7+ (-1)=
14) -12+ (-3) =
15) -35+ (-5) =
M odified 1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Math ] WWW.Comrr?or:CloreSheets.com 4 11-15|127120]13| 7| O




C:# Multiplying & Dividing Negative Numbers Name:

Solve each problem. Answers
1) (-6)x(-3)=
1
2) 6x(-2)=
2.
3) (20)+(-4)=
3.
4) 1x(-5)=
4,
5 -35+(-7) =
5.
6) -2+ (-2 =
6.
7) (1)x(-8)=
7.
8) (-18)+3=
8.
9) (20)+(-5)=
9.
10) (-56)+ 7=
10.
11) (-5)x4=
11.
12) -72+(-8) =
12.
13) -18+(-9) =
13.
14) (-6)x7=
14,
15) (40) = (-8) =
15.
16) -16+ (-8) =
16.
17) -28+ (-7) =
17.
18) (-24)+ 8=
18.
19) (-8)x(-5=__
19.
20) (-] x4=
20.

M th 5 1-10 {95|90(85(80| 75| 70| 65|60 |55|50
a www.CommonCoreSheets.com 11-20(45(40|35|30(25(20| 15|10 5| O




ﬂh Multiplying & Dividing Negative Numbers Name: Answer Key

Solve each problem. Answers
1) (-6)x(-3)=_ 18 1 18
2) 6x(-=_-12 N -12
3 @0+ (H=_5 , 5
4 1x(5)=_ -5 4 -0
5) 3+ (7N=_5 5 S
6 2+(=_1 6 1
) ()x(-8)=_8 ; 8
8 (-18)+3=_-6 . 6
9 (0= (-H=_-4 . 4

10) (-56)+7=_-8 10, -8

11) (5)x4=_-20 1. -20

12) -72+(-8)=_9 12 9

13) -18+(-9)=_ 2 13, 2

14) (- x7=_-42 14, -42

15) (40)+(-8)=_ 5 15. -9

16) -16+(-8)=_ 2 16. 2

17) -28+(-7)=_4 17. 4

18) (-24)+8=_ -3 18, -3

19) (-8 x(-5)=_ 40 10, 40

20) (D)xd4=__ -4 20. -4

M th 5 1-10 [95]90|85(80| 75| 70| 65| 60|55 |50
a Www_Cc)mmor]COfeSheets_C()m 11-20(45(40|35|30(25(20| 15|10 5| O




C:# Multiplying & Dividing Negative Numbers

Name:
Solve each problem. Answers
2 -6 -5 18
5 -5 -42 -4 1
1 -20 8 -12
9 -8 -5 2.
) (O)x(-3=__ 3
2) 6x(-2)= 4.
3) (20)+(-4)= >
6.
4) 1x(-5)=
7.
5) -35+(-7) =
8.
6) -2+ (-2 = 9.
N )x(E8)=__ 10.
8) (-18)+ 3= H
12.
9) (20)+(-5)=
13.
10) (-56) + 7=
14.
11) (-5)x4=
15.
12) -72+(-8) =
13) -18+ (-9) =
14) (-6) x 7=
15) (40)+ (-8) =
M odified 1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Math ] WWW.Comrr?or:CloreSheets.com S 11-15]27|20]13| 7 | O




C:# Multiplying & Dividing Negative Numbers Name:

Solve each problem. Answers
1) 20+ (-4) =
1.
2) (-9)x(-8=
2
3 4+ (4=
3
4) (6)+(-6)=
4,
5) (-7)x2=
5.
6) (Dx(-8=__
6.
7) 6x(-7)=
7.
8 (72)+(-8)=
8.
9) (-5)x7=
0.
10) -48+(-8) =
10.
11) (-35)+7=
11.
12) 3x(-4)=
12.
13) (15)+(-3) =
13.
14) 3x(-9)=
14.
15) -20+ (-5) =
15.
16) (-3)+3=
16.
17) -54+(-6) =
17.
18) (-1)x9=
18.
19) -12+ (-4) =
19.
20) (-)x(-4)=
20.

M th 6 1-10 {95|90(85(80| 75| 70| 65|60 |55|50
a www.CommonCoreSheets.com 11-20(45(40|35|30(25(20| 15|10 5| O




ﬂh Multiplying & Dividing Negative Numbers Name: Answer Key

Solve each problem. Answers
1) -20+(4)=_5 1 S
2 (9x(-f=_72 N 72
3 4+(4)=_1 3 1
49 ©)~(¢6)=_-1 4 -1
5 (Nx2=_-14 5, -14
6 (Dx(8=_8 6 8
7) 6x(-7)=_-42 7 -42
8 (72+(8)=_-9 . 9
9 (5)x7=_-35 9 -35

10) 48+ (-8)=_ 6 10. 6

11) (-35)+7=__ -5 _ 11, -9

12) 3x(-4)=_-12 12, -12

13) (15)+(-3)=__ -5 13, -9

14) 3x(-9)=_-27 1 -27

15) -20+(5)=_4 15, 4

16) (-3)+3=_ -1 16. -1

17) 54+ (-6)=_9 17. 9

18) (-)x9=_-9 18, -9

19) -12+(-4)=_3 10, 3

20) ()x(-4=_4 20. 4

M th 6 1-10 [95]90|85(80| 75| 70| 65| 60|55 |50
a Www_Cc)mmor]COfeSheets_C()m 11-20(45(40|35|30(25(20| 15|10 5| O




C:# Multiplying & Dividing Negative Numbers Name:

Solve each problem. Answers
-9 8 -42 -27
6 -5 5 -35 1.
72 1 12 5
4 -1 14 2
1) -20+(-4)=__ 3
2) (9 x(-8) = 4.
3) -4+ (-4)= >
6.
49 ©)-(6)=__
7.
5 (-7)x2=
8.
6) (-1)x(-8) = 9.
7) 6%x(-7)= 10.
8) (72)+(-8) = 11.
12.
9) (-5)x7=
13.
10) -48+ (-8) =
14.
11) (-35)+7=
B 15.
12) 3x(-4) =
13) (15 + (-3)=
14) 3x(-9) =
15) -20+ (-5) =

M ath M odified 6 1-10 | 93[87|80| 73| 67| 60| 53|47 |40 33|
www.CommonCoreSheets.com 11-15|127120|113| 7 [ O




C:# Multiplying & Dividing Negative Numbers Name:

Solve each problem. Answers
1) (10 +(-2)=
1
2) -56+ (-8) =
2.
3) -5+(-9)=
3.
4) (-42)+6=
4,
5 (Dx2=__
5.
6) (9x(4H=__
6.
7) 7x(-6)=
7.
8) (-8 x2=
8.
9) 8x(-5)=
9.
10) -72+ (-9) =
10.
11) (-3 x(-2) =
11.
12) (-18)+3=
12.
13) (x(-4)=__
13.
14) (-9)+9=
14,
15) 5x (-2) =
15.
16) -45+ (-9) =
16.
17) (-2)x6=
17.
18) (40) (-5 =
18.
19) F)+(-N=__
19.
20) -10+ (-5) =
20.

M th 7 1-10 {95|90(85(80| 75| 70| 65|60 |55|50
a www.CommonCoreSheets.com 11-20(45(40|35|30(25(20| 15|10 5| O




ﬂh Multiplying & Dividing Negative Numbers Name: Answer Key

Solve each problem. Answers
) (10+(2=_5 . 5
2) 56+ (8=_7 2 7
3) 5+(H=_1 3 1
4 (4)+6=_-7 \ 7
5) ()x2=_ -2 : 2
6) (-9 x(-4=_36 6 36
7 Tx(6)=_-42 . -42
8) (8 x2=_-16 8 -16
9 8x(5)=_-40 9 -40
10) -72+(-9)=_8 10. 8
11) (-3x(-)=_6 11, 6
12) (-18+3=_ -6 12, -6
13) (-2)x(-4)=_8 13 8
14) ((99+9=_ -1 “ 1
15) 5x(-2)=_-10 15, -10
16) -45+(-9)=_5 16. S
17) (-2)x6=_-12 17. -12
18) (40)+(-5)=_ -8 18, -8
19) 35)+(7)=_-5 10, -9
20) -10=(-5)=_2 20. 2

M th 7 1-10 [95]90|85(80| 75| 70| 65| 60|55 |50
a Www_Cc)mmor]COfeSheets_C()m 11-20(45(40|35|30(25(20| 15|10 5| O




JL_

Multiplying & Dividing Negative Numbers Name:
Solve each problem. Answers
8 8 36 -7
7 -16 -6 -1 1.
-40 -2 -5 -10
6 -42 1 2
1) (109=+(2= 3
2) -56+(-8) = 4,
3) -5+ (5= >
6.
4) (-42)+6=
7.
5 (hx2=
8.
6) (-9)x (-4) = .
7) 7x(-6) = 10
8) (-8)x2= 11,
12,
9) 8x(-5)=
13.
10) -72+(-9) =
14,
11) (3 x(-9=
15.
12) (-18)+3=
13) (9 x (4=
14) (-9 +9=
15) 5x (-2) =
[ M ath ] M odified 1-10 | 93[87|80| 73| 67| 60| 53|47 |40 33|
d www.CommonCoreSheets.com 11-15)27]20(13| 7 | O




C:# Multiplying & Dividing Negative Numbers

Solve each problem. Answers
1) (9x(-2)=
1.
2) (-3 x(-H=
2
3) -42+(-7)=
3
4) 6x(-4)=
4,
5 -12+(-4) =
5.
6) (gx7=__
6.
N @)=8)=__
7.
8 (7)x9=
8.
9) -16+(-2) =
0.
10) (21) = (-7) =
10.
11) (-8)x(-2) =
11.
12) (-6)+6=
12.
13) 9x(-1) =
13.
14) -48+ (-6) =
14.
15) -10+(-5) =
15.
16) -28+ (-7) =
16.
17) (-3)x4=
17.
18) (30) ~ (-5 =
18.
19) (-40)+5=
19.
20) 1x(-9) =
20.
75]70]65[60]55]50

[ M ath ] www.CommonCoreSheets.com 8

25

20115101 5{ 0




ﬂh Multiplying & Dividing Negative Numbers Name: Answer Key

Solve each problem. Answers
1) (9x(-9=_18 1 18
2) (x(H=_15 2 15
3 -A2+(7)=_6 3 6
4 6x(-4)=_-24 a. -24
5) -12+(4)=_3 5. 3
6) (8)x7=_-5 6. -56
7N (1) (8=_9 § 9
8) (7)x9=_-63 . -63
9) -16+(2)=_8 9 8

10) @)=+ (7=_-3 10, -3

11) (8)x(-2)=_ 16 11, 16

12) (-6)+6=_ -1 12 -1

13) 9x(-1)=_ -9 13 -9

14) -48+(-6)=_ 8 14, 8

15) -10+(5)=_2 _ 15, 2

16) -28+(-7)=_ 4 16. 4

17) (-3)x4=_-12 17. -12

18) 30)+(-5)=_-6 18, -6

19) (-40)+5=__ -8 10, -8

20) 1x(-9=_-9 20. -9

1-10 |95]|90|85|80|75[ 70| 65[ 60|55 | 50

[ Math ] W CommonCoreSheets.com 8 11-20[45]40(35]30[ 25|20 15|10 5 | O




C:# Multiplying & Dividing Negative Numbers Name:

Solve each problem. Answers
8 -9 -24 -56
8 -63 6 2 1.
18 -9 16 15
-3 3 -1 2
1) (9 x(-2= 3.
2) (3 x(-9)= 4.
3) -42+(7)= >
6.
4) 6x(-4) =
7.
5) -12+(-4) =
8.
6) (§x7=_ o
n@)+=(8=__ 10.
8) (-7)x9= 11.
12.
9) -16+(-2) =
13.
10) (21)+(-7)=
14.
11) (8)*x(-a=__
15.
12) (-6)+6=
13) 9x(-1)=
14) -48+ (-6) =
15) -10+ (-5) =

M ath M odified 8 1-10 | 93[87|80| 73| 67| 60| 53|47 |40 33|
www.CommonCoreSheets.com 11-15|127120|113| 7 [ O




C:# Multiplying & Dividing Negative Numbers Name:

Solve each problem. Answers
1) (1)x(-3)=
1.
2) (-24)+3=
2
3 (6)+1=
3
4) -48+(-6) =
4,
5 @+(D=__
5.
6) (45)+ (-5) =
6.
7) -32+(-4) =
7.
8) (9 x1=
8.
9 (-8 x(-3 =
0.
10) -35+ (-7) =
10.
11) 4% (-2) =
11.
12) 8x (-6) =
12.
13) -9+ (-1) =
13.
14) (-8)+1=
14.
15) (-3)x8=
15.
16) -40+ (-8) =
16.
17) 5x(-9) =
17.
18) (32)~(-8) =
18.
19) (-4)x2=
19.
20 (x(9=__
20.

M th 9 1-10 {95|90(85(80| 75| 70| 65|60 |55|50
a www.CommonCoreSheets.com 11-20(45(40|35|30(25(20| 15|10 5| O




ﬂh Multiplying & Dividing Negative Numbers Name: Answer Key

Solve each problem. Answers
) (Dx(-3=_3 . 3
2) (-24)+=3=_-8 ) -8
3 (B)+1=_-6 3 -6
4) -48=(6)=_38 . 3
5 @=(-D=_3 5 3
6) 459)+(5=_-19 6 9
7) -R+(4)=_8 7 o
8 (9x1=_19 . 9
9 (x(3=_24 o 24

10) -35+(-7)=_ 5 o 5

11) 4x(-9=_-18 " -8

12) 8x(-6)=_-48 1. -48

13) 9+(-1)=_9 " 9

14) (-8)+1=_ -8 " 8

15 (-3)x8=_-24 5 24

16) -40+(-8)= 5 . .

17) 5x(-9=_-45 . 45

18) 2)=(-8=_-4 . 4

19) (4x2=_-18 N 8

20) (-9x(-9)=_18 0 18

M th 9 1-10 [95]90|85(80| 75| 70| 65| 60|55 |50
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Multiplying & Dividing Negative Numbers Name:
Solve each problem. Answers
-8 -3 9 -8
-48 -6 5 3 1.
8 -9 -8 -24
8 24 -9 2.
1) (1) x(3= 5
2) (-24)+3= 4.
3) (6)+1= >
6.
4) -48+(-6) =
7.
5 (3)+(1)=
8.
6) (45 +(-5)= 9.
7) -32+(-4)= 10.
8) (-9)x1= 11.
12.
9 (-8 x(-3) =
13.
10) -35+(-7) =
14.
11) 4x(-2) =
15.
12) 8x (-6) =
13) -9+ (-1 =
14) (-8)+1=
15) (-3)x 8=
M odifi 1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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C:# Multiplying & Dividing Negative Numbers Name:

Solve each problem. Answers
1) -24+(-3) =
1
2 (4+1=
2.
3) -6+(-6)=
3.
4) (-3)x(-5) =
4,
5) (-9)x (-4) =
5.
6) 1x(-2)=
6.
N Ge=(nN=__
7.
8) 2x(-8)=
8.
9) (-54)+9=
9.
10) (-7) x(-8) =
10.
11) (21 + (-7) =
11.
12) (14) = (-2 =
12.
13) (1) x6=
13.
14) (-9)x7=
14,
15) -16+ (-8) =
15.
16) (-8) x 2=
16.
17) -7+ (-7)=
17.
18) 8x (-5) =
18.
19) -28+ (-4) =
19.
20) (-12)+ 6=
20.

M th 10 1-10 {95|90(85(80| 75| 70| 65|60 |55|50
a www.CommonCoreSheets.com 11-20(45(40|35|30(25(20| 15|10 5| O




ﬂh Multiplying & Dividing Negative Numbers Name: Answer Key

Solve each problem. Answers
1) -24+(-9=_8 . 8
2 (H+1=_4 2 4
3 6+(-6=_1 N 1
4 (-39x(-5=_15 . 15
5) (9 x(4=_36 5, 36
6) 1x(-9)=_ -2 6 -2
7 (56)+(7)=_8 } 8
8) 2x(-8)=_-16 3 -16
9 (B4)=9=_6 9 -6

10) (-7)x(-8)=_ 56 10, o6

11) (2)+(-7)=_-3 11, -3

12) (14)+(-2)=__-7 _ 12, -7

13) ()x6=_-6 13, -6

14) (-9)x7=_-63 14, -63

15) -16+(-8=_ 2 15, 2

16) (-8)x2=_-16 16. -16

17) -7=(-nN=_1 17 1

18) 8x(-5)=_-40 18 -40

19) -28+(-4)=_ 7 10, 7

20) ((12+6=_-2 20. -2
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C:# Multiplying & Dividing Negative Numbers Name:

Solve each problem. Answers
8 -8 -6 56
-7 -63 -16 -4 1.
-2 1 2 -6
36 -3 15 2.
1) -24+(-3) = 3
2) (-4)+1= 4,
3) -6+ (-6)= >
6.
4 (Jx(5=__
7.
5) (9)x(-4)=
8.
6 1x(=__ .
n Ge)-(n=__ 10.
8) 2x (-8 = 11.
12.
9) (-54)+9=
13.
10) (-7) x(-8) =
14.
1) @)=+(nN=__
15.
12) (14)+(-2) =
13) (()x6=
14) (-9 x7=
15) -16+ (-8) =

M odified 1-10 | 93[87|80| 73| 67| 60| 53|47 |40 33|
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